1)
[] FURUNO

PACKING LIST FOR FAP5011A

Box 1 - Control Unit

Part No.
FAP5011

OME-725-017
000-147-231
000-864-126
000-863-106
000-864-256
000-147-539
C72-003-02Z
10 OSE-725-01Z

OO ~NOOOThA~, WNPEP

rev 4/22/2005

Description
Mini Control Unit

White Plastic Cover
Operator's Manual
Cable Assembly 7P > 7P
Flat Washer M4

Hex Nut M4

Spring Washer M4
Threaded Rod M4 x 50
Mounting Template
Operator's Guide

Page 1 of 1

Quantity
1

PP ADMDMDNRRER

For Internal Use Only

Serial No. 8044 -

Checked By:
Tech
Date
FAP5011A
Yes Remarks
attached

sub SP64-01001

mounting kit




